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The figures in the margin indicate full marks
for the quesnons

- Answer either in' Enghsh ‘or ‘in Assamese

WWWWW|

Answer quesnon Nos. 1, 2 3 and
any fbur ﬁ'om the rest.

1, 2, 3a\m@mﬁﬁmw |
m@mwﬁmsﬁmw&ﬁm

1. (a) Fill in the blanks :
- AR SR A



_(i1) The aggregates of all sainple points is
~called the........ . 1

(iii) The -independent variate ~values in .

interpolation are termed as ....... .1
LTS FCF Hoi TS ... =
A

(i) Cost of living Index Numbers are known
as ..-..‘.'.' .. ' . . 1

C ﬁm.ﬁﬁiwmm ....... qﬁwm:

(b) Wnte down the appro:umate relation
between mean, median and mode of a
moderately skewed distribution. 1

TEARIRR REw 61 1T, TN e IHTHT
Trere wwmﬁm

(e) Find the SD of the values given below: 1
TR WRPHR T Roem [T =1 ¢
252’23636,6,6_ |
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(d) If the mean of the seties X,, X, ..... X_ is
X, what is the mea'n of the series 4X,, 4X,,
..... 4_x,’,?- R

xmmawxmm
4X,, 4x caﬁﬂzﬁammmﬁm% ?

' (e) Mention the parameter of Poisson: probabl-
* lity distribution. 1

WWWWWW!

(f) Mention two control charts for vanables in

'SQC _ S
--ﬁ'ﬂmﬁ_@amﬁwtl a

-(g) Select ‘thc correct answer : R 1
wg Tey e 1t ¢ -

If r = £1, the two lines of regressmn are :
’iﬁr-+l mv:’r.ﬁmﬂmq caanli@rﬁiﬂ"

(@) Comcldent
ﬁw@’t

(11) Para.llel
AN
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(iii) Perpendicular to each other i

(iv) None of the above.’ 2T
- @%{ B8 T

2. (a')'FmdmeGMofozandsz 2
‘ "'-02W32aawmm®ﬁi~eatl

~(b) Dlstmgmsh between parameter and ‘statistic.
- 2
o5t il alfc‘sﬁ*fﬁ e =ity ordeat|

.(c)' Fmd EX) ‘for the followmg probablllty
distribution of X :

. 'x-aﬁﬁfﬁﬁswﬁvsrzr%qawm()ﬁ‘ﬁ

. ) w g -
X: 0 1 2 3 -
P: 1/8 3/8 3/8 1/8

. (d) State two essential points.to be noted while
drafting a questionnaire. 2
- 901 R U S =M '

(e)' Mention two properties of correlation co- |
efficient. : 2
TETER QU Wot of @cm w:
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3. Answer any fow' of the followmg questlons :

o | - 5x4=20
i ﬁ I BifRet m @ea fra 8

(a) Distinguish between pnmary data and

- secondary data. Mention various methods of
~collecting primary data.

Wsmwmqemwmﬁﬁqﬁamw
oy ey Rfew WWW|

(b) Wnte a note on the unportance of Statlstlcs
in. Commerce.

Mg AR ﬁ@lﬂa ow TE Bt (Brel
B TR

' (©) Define mathematical expectation. A random .
variable X has the 'followixlg probability
- distribution :

Wm‘ﬂwmlmww
x«w@ﬁmﬁﬂmﬁmm

X : 1 2 3 4 5 6
o111 11
PX: 5§ 6 6.6 6§ &
 Find E (X) and Var (X). |
E(X)WVar(X)ﬁ‘fﬂWl
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Of a certain distribution, the Karl Pearson's
coefficient of skewness is 04, the standard
deviation is 8 and mean is 30. Find the mode
and the medlan of .the distribution.

B R T T e L S——

(e)

(®

L@

e 04, % Roem == 8 oi% s o 301
RelemoR IET AT NgN Ry 391

Mention the chief characteristics of normal
probability distribution.

mwﬁwﬁ«a«hﬁm{qw. |

1M1

What is a control chart ? Explairi the reason
for 3o control limits for a control chart.

ﬁamﬁaﬁs?ﬁwmﬁwsgﬁamm
G R Y 34| :

Calculate mean and coefficient of variation
from the following data : 2+4=6

ST TN AR g Wi ﬁwr @eiie Rt
)

Maks  :0-10 10-20 20-30 3040 40-50
() | .
No.ofstudents:15 25 ~ 60 40 10
(FTR TR ' '

53/4 (Sem-2) BUST ©



®)

5. (a)

11 1 1

Define dispersi_bn.- Distinguish clearly -

‘between absolute and relative measures of

dispersion. . S 1434
ReRer wiget ﬁml Rz W mvf 150

eifee MY TS Ay S wedt |

A problem on statistics is givén to five
students A, B, C, D and E. Their respec-
tive chances (probability) of solving it are

| :
—. — and - : :
3P 5 respectively. What is

the probablh_t_y that at least one of the students
solve the problem ? o 6
SARFR ReEE 01 @Bt T IR AR
sivew =4 A, B, C, D Wi Es il tx=1 -
cs@mmvﬂm_mmasﬁa ﬂmﬁ@rﬁw

111 _
237 IWHS—I TS e
w@wmwmﬁﬁam,wﬁ@rm?

(b) If 5% electric bulbs manufactured by a

company are defective, find the probability
that in a sample of IOO_bulbs.
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E ﬁmm'mﬁm@aﬂmwﬁmﬁi

6. (a)

-ms%@ﬁwrﬂ,mwowﬁqﬁ? o

A 2 efows Gore

(i) none are defectwe

m@ﬁwﬁ@ﬁmﬁww

(ii) 3 bulbs are defective. : 4
(Given e = 0007) o
3 5t wlge Reem A R ﬂmﬁ@t R
F_L

(Rl wiitms &= 0007)

Fit a.straight line t_rend by the method of
least square to the following data : -
- 5+1=6

@ U A TSN 35 YNANI vﬁa wRkRs

'.em@rwaﬂw

Year . : 2008, 2009, 2010, 2011,

@R

Prqduqtid_n _ _
Rs.(crores) : - 7 10 12 14
Besimw . | -
(e Bt

| Iﬁmw) o
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 Year .- : 2012, 2013, -2014
@@ s '
Production o o
Rs. (crores) : 17 : 20 24

L Besiiw L. : o B
- (c3ife Bt
- - f2pive)
Estimate the likely production for 2016.
2016 51 I TG BT IRt Siwew 391 |
() Write a note on usefulness of Ihdex.Number.. |
IHINIR ATAEITOL T=ICF 61 5 it B |

7. (a) Discuss the relative advantages and limita- _
tions of sample survey and c{elgsus survey.
AR WF TARGS! WA I | -

(b) E_Xplain ’thc concepts of Typ‘e I and Type II

Error. | 4
| sl oo o o RO, e T SfdRen
! Iyt 3| N
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8. (a) The following data are given : 5+1=6
R SR R WR e |

% :

" Mean = 40
(D) o
sp 10 15
(e Rvew) |
. Con‘elation coefficient between. x and
Cy =09 | | |

x%yWW@W—OS’

(i) Find the two regression equauons. -
S AR ol ﬁ=ﬁ1 |

P i :
(i1). Estimate the value of y when x = 60.
X = 60 X1 yOF. I T, F4A | -

(b) Distinguish between interpolation and

extrapolation giving examples. . 4
wofRtl
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o (a)

(®)

10. (@)

Estimate by Newtons method of interpola-
tion, the expectation of life at the age 12
years from the followmg data : 6
ACHT S 9@ e R 12 T[F TS
e wrpT Ry =4 s

Age : 10 15 20 25 30 35
FF=) '

Years : 354 323 292 260 232 204
IR) | ' |

What do you mean by correlation between
two variables ? Explain different types of
correlation. 4

551 GeRIFR SR THTAE IR R e 2 RSH

APRY TG IR [

What are assignable and chance causes of
variation in a manufacturing process ? When

~ is manufacturing process said to be under

statistical quality control ? 4

Rivi efdra s11® @fte ATt R o
% weje o W o Remd & e

. Rt Rt <5t ARARIER werot Rt

I R T e
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- (b) Write short notes on- any two. : . 3x2=6
R GO $BIR 8o T as*m forar s

(1) Test of hypothesns
o w9

(ii) Kurtosis
37 el

(iif) Level of significance.
APl BI|
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